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public class Chukan2 {
public static void main(String[] args) {
double x = 0.0, y = 3.0;
if (x > 0.0) System.out.println(":-)");
else if (y > 2.0) System.out.println(":*)");
else System.out.println(":-D)");
if (x > 0.0 & (y = 2.0) > 1.0) System.out.println("8-)");

System.out.println("y = " + y);

if (x> 0.0& (y =2.0) >1.0) System.out.println("B:-)");
System.out.println("y = " + y);

char ¢ = > [J7;

switch(c) {

case > ’: System.out.println("cO°>0O°000");
case > [0 ’: System.out.println("k0°>0O°000"); break;
case > [0’: System.out.println("k0°0O°000");

case ’ [ ’: System.out.println("k0°>0°000"); break;
default: System.out.println("O000000O00O");

(DooDoOoooooOooon)



}

System.out.println("l =" + 1+ "m="+m+ "n="+n);
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=00 00 e

=Db + c;

=bx*xc / d;
=b-c/ d- e;
=b+c-dx*e;
=b=c=d+e-f+g;
=bx*xc--++dx*xe xf + g;
=a==Db&& c<d |l e>f;
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2: public class Chukand {
3:
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11:
12:
13:
14:
15:
16:
17:
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19:
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21:
22:

import java.util.Scanner;

public static void main(String[] args) {
Scanner stdIn = new Scanner(System.in);
System.out.println ("0 0000000000 (2U0O0)0000000OOOM™);
int n = stdIn.nextInt();

if (m % 2 (a) 0) System.out.println(n + "O 20000000000O0O00OO");
else {

int divisor = 3;

while (divisor * divisor <= n) {
if ( (®) ) {
System.out.println(n + "O" + divisor + "OOOOODOOOOODOOOM;
(c)

}
divisor (d) 2;
}
if ( (e) ) {
System.out.println(n + "OO0O0O0O0O0O");
}

}
}

11000000 divisor * divisor <= nUO0divisor 0 nO0 00000000000 O0O0O0O0OOOOO0 20000
000000000000000000 200000 2n000000000000000O0OD (sqrtO000)0DO0OODO
divisor <= sqrt U U U OUO0OO0O0OO0OOO0O0OOO0OOOO0OO0OO0OO0OOO0OOOOanOO

OCO00On0O0O00 100 wOOOOOOOODOOOOOOOO0O020000chk = (1b +ub) / 200000chk
20020000000 10 chk000000000O00000wO chkOOOOOw - 10100000000
bb00OuwOO0OO00O00000000000000000000000 intO0000O00D0O00OO00OOO0O0OO0ODbO0O0OO0
obooobOoobooooobooon



ooog

go0o0oodo0oogogoogodoooogogoooogoooogogn

00O0((p)D(y), (F), (G)00 100000002000 560)

(a) (k) (w)
(b) M) ()

(m) ()

(n) (2)
() (o) (A)
(d) (p) (B)
(e) (a) (©)
(f) (r) (D)
(8) (s) (E)
(h) (t) (F)
@) (u) (G)
) (v) (H)

0oo(o0)

000(@2x7=140)

a = b + c;

a = b * ¢ / d

a = b - ¢ / 4 - e

a = b + ¢ - d * e

a = b = c =d + e - f + g;

a = b *x ¢ - - ++ d4d *x e *x f + g;

A = a == b && c<d || e > f;




D0O0@Bx5+5=200 ((a) +30))
()
(b)
(c)
(d)
(e)
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000((p)D(y), (F), (G)00 100000002000 560)

() 000D (k) 000000 (w) if
(b) 00000000000000000000000 @) 0000 (x) else
000000000000 00000OOO0ooon
0oooo (m) 0000 (y) for (0D)
(n) 0000 (z) OO
(c) 101101011015 (0) 1 byte (A) $
(d) 2655, (p) byte (B) —23!
(e) 5AD H (q) short (C) 281 —1
(f) 0000000000 (r) int (D) —61
(g) 000000000 (s) long (E) 195
(h) 0000 1000020000000 (t) float (F) -2.3e4f
(i) 8 bit (u) double (G)) -2.3e4
G) 000 (v) char (H) -5.25
0oo(00)
*)
y = 3.0
y =2.0
c0’0°000
x0°0° 000
l1=5m=4n-=4
000@2x7=140)
a = b + c;
2
a = b *x ¢ / d;
3 1 2
a = b - ¢ d - e;
4 2 1 3
a = b + c¢c - d e;
4 1 3 2
a = b = ¢ =d + e - f + g;
6 5 4 1 2 3
a = b *x ¢ - - ++ d *x e *x f + g;
8 1 6 3 2 4 5 7
A = a == b && c<d || e>f;




000@3x5+5=200 ((a) +30))
(a) == 0 & n - 2 !=

(b) n % divisor ==

(c) break;

(d) +=

(e) divisor * divisor > n
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oUdD 100000000
int ub = n / 3, 1b = 3, chk = 3, sqrt;
while(true) {
chk = (ub + 1b) / 2;
if(chk * chk < n) 1lb = chk;
else ub = chk;
if (ub - 1b <= 1) {
chk = ub;

break;

by
sqrt = chk;

1100000
while (divisor <= sqrt) {

180000
if (divisor > sqrt) {




